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<�� =�>?� :5� �$�. 
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� ��� ��J K��L �M� �� ��7�&- 8��*5�� 9N*
� �M�L �O @� 

 ����� 

1 �� 0;��1�� �%�
�� @�P 0Q5�� R �QS*1 �J #�� ������� 8�9�� :5� ��
� ��� ��J K��L �M� �� �%T� 
 �%U
&� 9V ��S�� W'��X� 3� E�'3�Y ��S�� �L��� :5� Z*1&� �J0;�*��� �� �45
6 [�*��. 
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 �� �V��� :5� ������� @� � \
&' �A ]^ E_�`� 0;�*� �� 3� a�?� b17 �� ���!��� c7*
� ���
��� R ,`d' @�
 ��7�e� 9�� :5� Z*f�� 9�%5� g7���� Z*
��� R h	� #�� ��7�&i� 8�%5��� �'�	
) �1J jC�3 E������� �'3�k

0;���� [�4���3 El�&m�� .( nN�!�� a�?� �1J jC� h� 9�%5� o��f� �pU�� �7�' @� Ea�q�� �,- 0�	Q
� E]^3
]7�&��)  ��(*
��(ITU-R P.834 .3_�`� 8��*5�� ���
� r �$A sA B�&
7�� �!2 E �1J jC� a�� nN�!� +��J

km 8 500. 
2 ���	�� ���	�� 

��S�?� W'��X
�� .�U
�� .��P a�?� b17 :5� �'*'B���� 8�M*�� ������ ���
' . �3�&� R 0%�
�� ��J3 EB�C�� �,- R3
�� ���tP �(�u� d�&
�� v�w��7�7?� ��-�4�� x�P ��	�� �,- R B�*� E��T
�. 

____________________ 

*  �� ���� ��	�
 �� ��
����������� ��	�� � ����� � ��	
�	� �	�
��� ��� ���� 2007. 
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1.2 ��	
� ��
���� ����� ������ ������ ���(Fresnel) 

�&��7��B  y
1	� yP �'*'B���� 8�M*�� ��T
�� A3 B ��z5�5-e� 8�%�
� �� �5;�� sA {��� l�X4�� ���	� �!2 E |���
 �7�P E�&'�N 8��z5�5-Aw�	� �p��D �%H �'�dP }� �&�A3 B �1	� �'� ~�N ]�z
�� *m :5�3 M gz5�5-e� ��
� :5� 

����
�� �JF�5�: 

 AM MB AB n+ = + λ
2

 (1) 

��L��"  n%J� }�Q�Q( }�\5�5-e� ��2  {��� 30P�1
� ��L 1 = n e� h�z5�5-g  �3?��A E�&'�4�.3 E��" λ�M*�� �*w . 

3 E��5%� ����	Y�a�
4 �� @� R ��� ��T
� Z� �C��� c` �-�*UP }�P*QC� �������i��A �!2 r �$A E �`�B 0;�� Z� �M*'
 ��
�z5�5-e�g�&'�4� �3?� . 

 ]'�	� �!23 �1J jC� 8�%�
� _�LA�5-e�5z����	
���3 �7��� yP �1	� �&� �17�*P }����$ �	�
� 8��L3 R : 

 R
n d d

d d
n

=
+

⎡

⎣
⎢

⎤

⎦
⎥

λ
1 2

1 2

1 2

 (2) 

 3�� R �!��5%� 8��L3: 

 

( )R
n d d

d d f
n

=
+

⎡

⎣
⎢
⎢

⎤

⎦
⎥
⎥

550
1 2

1 2

1 2

 (3) 

��L��"  f BB�
�� (MHz)3 d13 d2 �� @�
N��(km) �1J jC� �p�N ]�� #�� �1	&�� �&� ��	
���3 �7��� yP  ��
�
z5�5-e�g (m). 

 8F!T�� x�P ]51
�3������ �� �5;�� hw�	� �F` �� �p�5� �C� #�� 0w�&�� g-3 �&'�N 0w�&� �5-e� 8�%�
�5 ��z
�*
�� b17 h� . �	1&�� @*!�3 8�$ ������n 8��&Q&�� yP hJ�*�� l�f� g-  �p�5� �CQ�' #�� �17�*P y%�
��5-e�5 yz

n3 n − 1 EG�*
�� :5�. 

2.2  ������ ���)����� ��!( 

��5U�� �	1&� �U�� sA l*X�� �� ��	
��� B�� .*w :5� ��	
��� �,- ���3 0�S c'�� �)��5U�� a�� ( B3�L �`�B
g7�&i� �U�� . �!T�� y�'31 a�� ��5U�� (W) E[�4��� �&� �7�� B*M3 ���L R h #�� E��57 �'�;�B a�� v*N E
�17�*P :1���: 

           m 

3/1
2

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡

π
λ= e
a

w (4) 

��L: 

 λ:  �M*�� �*w(m) 

 ae:  ���4�� a�?� �1J jC�(m). 
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 �!T��1  

"��# ��� $������  

 

3.2 %��#&'� �*+�� 

 �C��� c` �N��� �� �7��� ������ �	1&� �
"(LoS)  9��� �*5` Z3��' ��L%60 s3?� �&'�N �	1&� �1J jC� �� 
(R1)947*P3�
�� ���
��� ���� �%�� ��L �7��� 0N� �� 9�!P ��P� �N��� sA EZ. 

4.2  ,��#��-�#�� .+/ �/0/ 

 ���Y �$A� k3�z
� � �%U
&� 9V ��!�� 0;���� b1�∆hE 

��L: 

           m[ ] 3/1
2

λ04,0 Rh =∆ (5) 

��L3: 

 R:  0;���� l�&m� �1J jC�(m) 

 λ :  �M*�� �*w(m)  

 �!2 ,;�&�}��57 0;���� ���
�� y��	4�� R �QS*�� v�1�� ��%�
7� �!23 33 4.2*
�� K��� y-. 

5.2 1�2#3� �-�#�� 

}�3��� �� 0;�� ���
�� �!2~P �1��� ��S�?� W'��X
��3 ~��$ �L R 0;���� yP ���4� Z� �!' r �$A  . E_�`� �����P3
� ��S�?� W'��X
�� gJ�P �� .�p7A Z� @3B +�L3 0;���� ]��P �A 9��� y-*� \
&' .����
�� =3�T�� �*
��� @� ]^3: 

� ��� a3�� yP ]Y��
�� .���U����5�0;���� :5��P3 |��1� �!P �1�����  

�  y���f� FY :5� 9��� �*5` �5�' @� y�
'0,6	1&� �1J jC� �� ��s3?� �&'�N  

� 0;���� o��M :5� Z3��� ��!��� .�����}��� . 

6.2 ��4,5� 6�,�7��� 8�9; 

�!2  }���� E��S�?� W'��X
�� =�>� j�&C� �%5�%5� ��%J��� �%�	5�∆h) �U�� ��(*
�� ITU-R P.310 ( �'�Q
� �5%�
���
[�*�� ��F� �%S E��S�?� W'��X
�� .�U
�� .�� �M�B: 

�7��� 0N�
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 � ( ���� ����� 	
���
 

}�Q17 @� �
�� @� �!2}��S�� }��57  �5�' ��S�?� W'��X
�� .�U
�� .�� ���	� @�Y �$A 0,1R  ��L E�J� 3�R �%�	�� 
	����T
��� 9�� R s3?� �&'�N �	1&� �1J jC&� _*C.3  a�� :5� ������� sA d�&
�� �$*> �&
�' E����� +,- R

 �'3�Y) l�f�3.( 

K( ������ ����� 

��Y� 3� �L�3 0;�� �� ��T
��� 9�� �	5�
�� ��S�?� W'��X
5� o��f� �pU�� @*!
' .}����3 E����� +,- R gq�&'3 
<%5� �1���� 8�11 R �QS*�� d�&
�� �$�> ��%�
7� E��T
��� 9�� a�
�� #�� 0;�*��� ���" |�� �5%�
��� �����%5�

 ��	4��4. 

�( ������ ����� 	
���
 

}�	;�� �p&� Z� ��%�' � �9q( �F� ��� �� o��f� �pU�� @*!
'}�&%�p�  . ��(*
�� .lF
�3ITU-R P.1546 _�� �`�B 
BB�������� �	'�w ���� �p&!�3 ��
� ��TP d�&
�� h� ���. 

7.2 ����� ������<" 

�� �&'�N ��5��!� :1��� ��Y��17�*P: 

 ∫
ν

ν+ν=
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ π=ν
0

2

)()(
2

exp)( jSCds
s

jF
c

 (6) 

 ��Lj �%�	5� Z3���� ]Y��� ������ √−1E3 C(ν)3 S(ν) �
�5��!� f �&'�N @�N��' @�,5�� �'3���� ]�M3 .�%
�� ]�
�17�*P: 

 ∫
ν

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ π=ν
0

2

2
cos)( ds

s
C (7a) 

 ∫
ν

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ π=ν
0

2

2
sin)( ds

s
S (7b) 

 ��Y��� �&'�N ��5��!� ���	� �!23Fc(ν) �J�P 3� Eg%J� ���!� �17�*P  ��N�Y �%�J sA ���&��P a��V?� �U��ν ��M*� 
��%�
7�P: 

 40for
4

)–(
4

)exp()(
11

0

<≤
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛=ν ∑
=

x
x

jba
x

jxF

n

nn

n

c
 (8a) 

 4for
4

)–(
4

)exp(
2

1
)(

11

0

≥
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛+⎟
⎠

⎞
⎜
⎝

⎛ +=ν ∑
=

x
x

jdc
x

jx
j

F

n

nn

n

c
 (8b) 

��L: 

(9) x = 0,5 π ν 2 
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3�"� an,3 bn3 cn3 dnF���� 8 ���*P (Boersma)  �B��*��+��B�: 

a0 = +1,595769140 b0 = -0,000000033 c0 = +0,000000000 d0 = +0,199471140
a1 = -0,000001702 b1 = +4,255387524 c1 = -0,024933975 d1 = +0,000000023
a2 = -6,808568854 b2 = -0,000092810 c2 = +0,000003936 d2 = -0,009351341
a3 = -0,000576361 b3 = -7,780020400 c3 = +0,005770956 d3 = +0,000023006
a4 = +6,920691902 b4 = -0,009520895 c4 = +0,000689892 d4 = +0,004851466
a5 = -0,016898657 b5 = +5,075161298 c5 = -0,009497136 d5 = +0,001903218
a6 = -3,050485660 b6 = -0,138341947 c6 = +0,011948809 d6 = -0,017122914
a7 = -0,075752419 b7 = -1,363729124 c7 = -0,006748873 d7 = +0,029064067
a8 = +0,850663781 b8 = -0,403349276 c8 = +0,000246420 d8 = -0,027928955
a9 = -0,025639041 b9 = +0,702222016 c9 = +0,002102967 d9 = +0,016497308
a10 = -0,150230960 b10 = -0,216195929 c10 = -0,001217930 d10 = -0,005598515
a11 = +0,034404779 b11 = +0,019547031 c11 = +0,000233939 d11 = +0,000838386

 ���	� �!23C(ν)3 S(ν)  �� ����7 ��J sA ���&��Pν @� sA ����e� �F` �� : 

 C(–ν) = – C(ν) (10a) 

 S(–ν) = – S(ν) (10b) 

3  ������� ��	
���
 ��� 

 @� �!2��;���� ��N�Se� ��7�e� ����` ]�H sA �� �17�*P �'3�Y a�� v*N ������� �q�C�'�	��� �5�5�� ��!�7F!�� .
 �*7��� \������ .�	'3GRWAVE 8��C�F� G3��� B�H�� _�� �M*' Z,�� E(ITU)1�� E�p5%Y�P �	'� . Z*
H3

 ��(*
��ITU-R P.368 :5�  \������ �,- \��*� �� ����N ��*%�) 8�BB�� �&�3 a�?� �� ��'�J 8��;�*- sA ���&��P
�B�.( 

1.3 �	
� �� 
����� �� ������� ������� ����� 

3B �'�	��� ��57 �� �3?� ��� g�
!' E0N?� �� �5'*w 8�N��� sA ���&��P�9�Y ���� +�*7 @E �L3  0N?� �� �P�	� :5�
 G�*L �5�' :CJ� �1` h� ]'�	
�� �,- ��%�
7� �!2 E0N?� �&� 3�2 dB��*L?� �U�� R . 

 E�N���� �L \��&Y �3?� ��� �P�
Y �!23F [�4���� ]�Y Z�L3 EGT3 GR . @�l�f� bS*'31.1.33 2.1.3 ��4�Y 
1�� B3��� +,- :5� �*C��}�JF �����P 8�116 �F` �� 3� �1��P ��( �� )8����V*�*�.( 

1.1.3 ���!� 
����" 

1.1.1.3 #�
� $%�� ��&���'(�� )&�*+� �,-. 

 �!2 _�� �'�H a�?� b1�� ��;�P�p!�� �;�Cu� 9���:5� ����` � E������� b1��� ��L�%�� W��	� ���� K��K E
)���
�� �3��  �%��� (P :1��' ��C�� �17�*����
��: 

 R�	�
� 8��L3: 

 ( ) ( )[ ]K
a

H

e= ⎛

⎝
⎜

⎞

⎠
⎟ − +

− −2
1 60

1 3

2 2
1 4π

λ
ε λ σ  sA ���&��Pg	N� K�1	
7� (11) 

3 

 ( )[ ]K K
V H

= +ε λ σ2 2
1 2

60        sA ���&��P K�1	
7�g7�� (12) 
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 3� R��5%� 8��L3: 

 ( ) ( ) ( )[ ]K a f f
H e

= − +− −
0 36 1 18 000

1 3 2 2
1 4

, ε σ (11a) 

 ( )[ ]K K f
V H

= +ε σ2 2
1 2

18 000 (12a) 

��L: 
 ae: � a�?� �1J jC� ���4� (km) 

 ε: &�� ��L�%��� ��������4�� 

 σ:  ����4�� ����C'e�(S/m) 

 f:  BB�
��(MHz). 

3Z*
� �!T�� 2  :5� ��J� �����K ��1%&��. 
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 �%�J ���Y �$AK �� �J� 0,001 a�¡� ��;�P�p!�� �;�Cu� @*!� E �2�� ?���� . R ����� ���*!� #�� �p�N @ ��JK 
 �� �Y�0,001 �%�
�� @� ]z�N E ��C��+��B� ��*Y,�� ��7�&�� . 

2.1.1.3  /��������� 0�1 �23 

��1�: ������� ��� ��� E ��� l�X4�� R ��
� ��� sA ���&��P EE0 �17�*P �� �q�C����
��: 

 ( ) ( ) ( )20
0

1 2
log

E

E
F X G Y G Y= + + dB (13) 

 ��LXyP 9�%5� W��	�� �*1�� g-  y��4��� �&� 8��;�*i� Y13 Y2 y��	� )��L3�%�J  20 log
E

E
0

����7 �B���� R .( 

 �
�

��
�� 

��
	


�
�

� �
�

�� 

��

�

��
K
 

����

�����	


���	2

����K 

 

�
�� 
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�	�
� 8��L3 R: 

 X

a

d

e

=
⎛

⎝
⎜⎜

⎞

⎠
⎟⎟β π

λ 2

1 3

 (14) 

 Y

a

h=
⎛

⎝
⎜⎜

⎞

⎠
⎟⎟2

2

2

1 3

β π
λ e

 (15) 

 3� R��5%� 8��L3:  

 dafX
e

3/2–3/1
2.2 β= (14a) 

 Y f a h  =   ,           
/

e

-
9 6 10

3 2 3 1 3× − β (15a) 

��L: 

 d: �*w 9��� (km) 

 ae:  a�?� �1J jC�nN�!�� (km) 

 h:  g;�*i� [�4���(m) 

 f:  BB�
��(MHz). 

β%5��  ���
��� R ,`�� �K�1	
7��3 a�?� c> .��3� ������P c�K �17�*P  ~�� �q�C������
�� ���'�z
��: 

 β = + +
+ +

1 1 6 0 75

1 4 5 1 35

2 4

2 4

, ,

, ,

K K

K K
 (16) 

3 ,`d� @� �!2β  �%�	5� �'3��� �¢� :5�1P  sA ���&�� �&� g	N?� K�1	
7�� h�D3 E8�BB�
�� sA ���&��P K�1	
7��
 v*N g7����MHz 20 3� a�?� :5� MHz 300�Q��� v*N . 

 ���sA ���&��P  �H g7���� K�1	
7��MHz 20 v*N 3� a�?� MHz 300 E�Q��� v*N N ]�H @� ]z�β ���B �-���
��P 
 ��	�K . �!%�� �� ~�� 9V;�&����A , ε3 �P�
Y: 

 

3/53/2

2
89.6

fk
K

σ≈ (16a) 

�' ��L �� ��σP  �17�*S/mE3 f (MHz)3 k j��X�� ������a�?� �1J jC&� . 

3�' g1� �L�N�����q�C�� �17�*P ����
�� : 

 XXXF 6.17–)(log1011)( += (17) 

�'3g1� �L [�4���� ]�Y G(Y)�q�C�� �17�*P ����
�� : 

 8–)1.1–(log5–)1.1–(6.17)( 2/1
YYYG ≅ sA ���&��P Y  >  2  (18) 

3 sA ���&��P 2 > Y �%�J @*!� EG(Y) �%�J ���B Kf� R �P*��� l� 1.3.3: 

 )1.0(log20)( 3
YYYG +≅ sA ���&��P 2  >  Y  >  K 10 (18a) 

 G Y K Y / K Y / K( ) log log ( )[log ( ) ]≅ + + +2 20 9 1 sA ���&��P K 10 > Y > K / 10 (18b) 

 G Y K( ) log≅ +2 20 ���&��PsA  K / 10  >  Y (18c) 
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2.1.3 �� �	
��� �
������
���� �
		� 

�!2 K���� Z�£ @� }�X'� W4� �¤ R  ]'�	
�� =3��)�� �3?� ��� �&%�- �'�	��� �5�57  (P �q�C�� ��%�
7�����
��: 

 20
0

1 2
log ( ) ( ) ( )

E

E
F d H h H h= + + dB (19) 

��L: 

  E: ¥�	
��� ��
� ����  

 E0
 

: X4�� R ��
� ��� �&� ��� l� W4� �N���� 

  d: 9��� R�w yP �N����  

 h13 h2: }���4����'3�Y a�� v*N y�;�*i� . 

3 ������ :1���F )�N���� 9���(  ������3H )[�4���� ]�Y( �p�5� Z*
H #�� �������� 8�11<�� �17�*P ��!�?� 33 4 
353 6. 

��3 �������� 8�11<�� +,- g1�)� ��!�?� �3 sA 6 ( ������ E��� l�X4�� sA ���&��P �5�	
��� ����e� �'*7sA ���&��P 
1 = k3 4/3 = k3 E sA ���&��P �� :5�� 8�BB��MHz 30}��'�	� .3 k ���4�� a�?� �1J jC� ����  ~4'��� B�' Z,�� R

 ��(*
��ITU-R P.310 .9VK��L �!2 ~��  �5�	
��� ����e� �'*7  ���&��P sA _�`� ��J ��kP  ��%�
7�F7r 
 8�BB�
�� sA ���&��P1 = k h� E�� �S��
7��  {��� BB�
��PZ3��' gS��
N� BB�
  f / k

2  sA ���&��P y5!T��33 5 E
3kf /  sA ���&��P y5!T��43 6. 

 @*!� Ea�?� �� K�	��P3[�4���� �� }��5%� �5	
�� ��
� ��� .3 g�
!� ���� ��-�U�� +,- sA ���&��P �9�Y
�Q��� v*N g7���� K�1	
7�� .3]���� �,iE �!T�� �%X
' 6 }��7�� }�1` EAB �U�5V . �,- h� ��	
��� cu� hw�	� �$¦N

 cu� §�5q��AB^ E @� ]�� a��
�' �Y� �%�	P g	�	�� [�4���� ���W2  ��	
��� cu�  :5�� B�!��P c`�� �
�&� A. 

�� ����1 ������  ��� 	
��
� �� ����

� ����
� � �
�
��� ��� ��!(19)��

" ��� ��  . �!���
� #$� %&' () �
�
��� *�+, �-�(19) �/�� 
0�1  234��� 	
��
� 5 6
7�. 
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012��3
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� �
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 ����  

 �
� 
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�

���
	 




��
�


k
 =
 4
/3

 

 �
��
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�

(k
m
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(d
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����� ����	
��–�
���� ����  

 �
���� ����	
�������  

3�4!��� 5�6(dB)

��
 	7��8� 3�4!��
 ����(m) 

9: +��$��* ;;���� 

012��4

 ����� ��� 	
� �
����
�������
 ��� 
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012��5

 ����� ��� 	
� �
����
– �����
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k
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 �
���� ����	
����
���  

012��6

 ����� ��� 	
� �
����
�������
 ��� 
��
 	7��8� 3�4!��

��� �(m) 

3�4!��� 5�6(dB)

9: +��$��* ;;���� 
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2.3 ����� ����� ������ �� ����� �� ����� �! ���"�
� �����#� $%
�� 

 yP g1` g5`�B ��%!
7� ��%�
7� EB3��� �� �'���� K��L ]51
' �'�	��� ��57 K��	� @� sA }��U�3 ����� +,- R �!2
 ������� �	1&� �L) �*5` ~
%�J0,6s3?� �&'�N �	1&� �1J jC� �� ( }��4( ��� l�X4�� sA ���&��P �'*p
�� Z3��' ��L 

Z*'B���� 0N?�3 . Es3?� �&'�N �	1&� �1J jC� ��L �� El��Me� �,i }�	N3 E������� ����` ]�Q��3(R1)¨©�Y E: 

 hA
R

h
A ⎥

⎦

⎤
⎢
⎣

⎡
−=

13

5
1)dB( (20) 

��L: 

 h: �� B3�L R 9��� �*5` 0sA  0,6 R1 

 Ah:  0N?� �&� ������� ����`)�U�� � ��	4�1.3(. 

 �17�*P 9��� �*5` :1��'3)�U�� �!T�� 7(: 

 )(if)1(
2

211 hhb
d

d ≤−= (21a-i) 

                 otherwise )1(
2

1 b
d

d += (21a-ii) 

 12 ddd −= (21b) 

 

⎪⎭

⎪
⎬
⎫

⎪⎩

⎪
⎨
⎧

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

+
+π+=

3)1(

3

2

3
arccos

3

1

3
cos

3

1
2

m

mc

m

m
b (21c) 

 

21

21

hh

hh
c

+
−

= (21d) 

 

)(4 21

2

hha

d
m

e
+

= (21e) 

 

d

dd
R

λ⋅⋅= 21
1 (21f) 

}����$ �	�
� 8��L*P @*!� +F�� 8�%5��� @� §LF'3. 

4 � ������ ��	 
����
����� 

~M�*' �'����  �� 8�9������ #�� �;��u� ��	� @� ��4�� ��3 E�5C4&� 0;�*� ��� 3� }��L�3 }�	;�� ��T
�0;�*��� +,- �p�� .
3 Z�3�X�� �� @A E8�P���� +,- l�B?�f���  ��!���0;�*�� g1�1� 0�� :5� l�&P y!��� �QY 0;�� a��
N�P l�*7 E

 ���<� Z$�� �
�' � 0;�� 3� W5��3 ��3�� �1J jC� h�  R l�&m� l�f� :5�?��J�P B�� .3 @� sA �U&��P�� 0;�*��� ��	�	
 ,<
�}��!��  @� ]^ E}���	�� ��Y�sA �U&'  8������� +,- R B�� #�� ��(*
�� �¢� :5�8����Pc	N ���'�	� . 

R Z�3�X�� �� @A  ����` ]�H @� E������� 9�� �� 9�!P �CJ� yN��1� yP ������ 9��� �p�N @*!' #�� 8����
�*w?� 9��� sA ��;���� ��N�Se� ��7�e�. 

3�� 0�1&� 8��1� �B��*�� Z� 0;�*��� �zL sA ���&��P }��M }�9q( �M*�� �*w @*!' ���&� +��B� E ��7�7� �4CP ���&��P sA
�8�M*� �'�
�� (VHF) �CJ?� 8�M*��3 (MHz 30 < f). 
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 �����7 

���� ���� 

 

1.4 �	
�� ��
 ���� ���� 

 ������� ����� +,- R _*C	��) @F!T��8a3 (8bEh�D �Q
�  ��7�&i� 8�%5���  R3 �%5��� B��P� FP ��L �p��A ����'�B�� 
�17�*P ν  #�� �J�� ��!�?� �� ��*&
� ��*%� ,<
����
<�� ��7�&i� 8�%5�%5� }�	N3 �ªN�!: 

 v h
d d

= +
⎛

⎝
⎜

⎞

⎠
⎟

2 1 1

1 2
λ

 (22) 

 v

d d

=
+

⎛

⎝
⎜

⎞

⎠
⎟

θ
λ

2

1 1

1 2

 (23) 

 v
h= 2 θ
λ

 ) ,`��ν ��F� h3 θ( (24) 

 v
d= ⋅2

1 2λ
α α ) ,`��ν ��F� α13 α2( (25) 

��L: 

h:  [�4����%J �9��� R�w yP cP�' ��	
�� c` v*N 0;��� . Ecu� �,- �H [�4���� @�Y �$¦N
@*!� h����7  

d13 d2: 0;���� �%J �&� 9��� R�w �
N��� 

d: 9��� �*w 

θ: ���� �'3�k ���(rad) �p
�F� �g-  ��F� W4�h .3 a�
4'R �'3���� θ  @*!� @� �� �J�rad 0,2 3� 
°12}��'�	�  

α13 α2: yP @�
'3����� �%J ' �%Y yN�1�� �L�3 0;��� ~��A �U&�`©� |�1�� �� .α13 α2 ��F� W4� �%i h 
+F�� 8�B���� R. 

�� ����1 � ��� �� ��  �	
�� 
����� ��h �d� d1� d2� λ
������ � ��  (22) �� (25). 

P :������� �	
�
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 ���
�8  

������ ��	�
 

) ������ �� ����
��θ� α1 �α2 �d �d1 �d2 �R ���
�
� ���� �1.4� 2.4( 

 

 �!T�� g1�'9 �%�	� ���B ~4(*P v ����u� (dB) J(v). 

 :1��3J(v)�17�*P : 

 

[ ] [ ]
⎟⎟
⎟

⎠

⎞

⎜⎜
⎜

⎝

⎛ ν−ν+ν−ν−
−=ν

2

)()()()(1
log20)(

22
SCSC

J (26) 
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 ��LC(ν)3 g	�	�� l�f� S(ν) G��u� l�f�  ��Y��� �&'�N ��5��!� ��F(v) ��	4�� R �p4'��� B�3 #�� 7.2. 

 sA ���&��P3v �� �Y� �0,78}�JF1�� ���'�	� �%�J :5� �*C�� �!2 E �� �q�C������
�� : 

 dB1.0–1)1.0–(log209.6)( 2
⎟
⎠
⎞

⎜
⎝
⎛ ν++ν+=νJ (27) 

 

 ���
�9 

 �
���
 ��	�� ��
��	� �����
 �� 

 

 

2.4 ��	
 ��
�
 ���� 

 bS*' �!T��8c  ��3�� 0;�� �7�&-� jC&�� �1	R .3 @� �ULF��P �'�M y
N����d13 d2 [�4����3 h cu� v*N 
 g7�7?��� ��	}���D0;���� v*N �1	��� ���?� hw�	
� ��L �%	�� sA ���&��P  . �!23K��L`  ������� ���� sA ���&��P

 +,-G�
�� *Q&�� :5� �7�&i�: 
 dB),()( nmTvJA += (28) 
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��L: 

 � ( J(v) ����` Fresnel-Kirchff �1	� �&� ��3�$ ~�N @*!� *m :5� hS*� �ªN�!� y!��� �QY �N�L sA ��;���� 
�%	�� .	� �!23 ��� �%5���v  B��P� FP}�JF1��Z� �� ��B���   8�B���� ��(22) sA (25) .3 ��B���� ]
!� @� �!2
(22) E E����� ���7 :5� 8��L3 RG�
�� *Q&�� :5� ��5%�: 

 v h
d d

d d
=

+⎡

⎣
⎢

⎤

⎦
⎥0 0316

2
1 2

1 2

1 2

,
( )

λ
 (29) 

  ��L ��	��h3 λ��
�?�P 3 d13 d28��
�*5�!��P . 

  :5� �*C�� �!23J(v)  �!T�� ��93�  ��  ��B����(27) . ����e� h� ~�� sA ���L R B*M3 ]z� 0;��
 @*!� E�C��� c` R ��T
���v ��B����3 E��M*� (27)�Q�Q( . 

K( T(m,n)  sA �;���� R�Se� y-*
�� l�&m�0;���� : 

(30a) 
22/32/1 8.06.3)5.122(2.7),( mmmnmnmT −+−−=          dB  for mn ≤ 4  

(30b) 
22/32/1 8.06.3)172(2.7)(log206),( mmmnmmnnmT −+−−+−−=   dB for mn > 4  

3 

 

3/1

21

21

⎥
⎦

⎤
⎢
⎣

⎡

λ
π

⎥
⎦

⎤
⎢
⎣

⎡ += R

dd

dd
Rm (31) 

 

R
R

hn

3/2

⎥⎦

⎤
⎢⎣

⎡

λ
π=

 (32) 

 R3 d13 d23 h3 λ  R�	�
� 8��L3. 

 ����e� h� ���&� ~�� sA*Q&� R E�4C�� *m 3 «�,YT(m,n) E� b�C ��B����(28) ������ Y �N�L y!��� �Q sA ���&��P
 ���*17� �5�'�1J jC��- }��4(. 

�� 0;�� �1J jC� 0P�1
' �&� l�&m�� �1J jC� h� l�&m �%J K�J 0;��5� o��f� �pU�� h� .lF
' Z,�� nN�!�� h1	��
�%	�� . �,- R �i�%�
7� y�
' #�� �%	�� �� _*C	�� �'B*%��� �N���� @*!� @� ]^ EnN�!�� h1	�� ��lF� ���L R3

�!� �M*' ��L s3?� �&'�N �	1&� �1J jC� ���� �� l��Me�0;���� @ . �!T�� Z*
�310 El��Me� �,- :5� ���� :5� 
��L: 

 

i

i
i

r

x
y

2

2

= (33) 

3ri 
' Z,�� l�&m�� �1J jC� �&���� h� 0P�1i�
�� �%	� g7���� o��f� �pU%5�  . E0;���� l�&m� �1J jC� c7*
� :1��'3
 ���L R 8�&����N�17�*P E: 

 ∑=
N

i

i

y

x

N
r

1

2

2

1
 (34) 
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 �����10 

������ ��	
�� �
��� 
���� 

 

 

3.4 �	��
��
 �	��	� 

��%
�  �'�U� 0��1� R �	'�1�� +,- ������y!��� �QY ���L3 �N�L  EG�*
�� :5� y	;���� :5� �%��3 �3?� 0;���� �%J
 ��C%Y �����F� ¬���� 0;���� :5�) �!T�� �U��(11 .� g1�'3� �3?� ������� 9� Z,�+B�H @�
N���� a3 b[�4����3  

1
h′ Eu� ����(dB) L1.�'3 9�� g1� � ¬���� ������� Z,�+B�H@�
N����  b3 c [�4����3 2h′ Eu� ����(dB) L2 . ]�H3
L1 3L2 �17�*P  B�� #�� ��C��R  ��	4��1.4 .^3]  @� b�QC� ����� |�X�(dB) Lc  @����� R ,`d' g!� �C4��b 

y
N��� yP . �'�	� �!23Lc�� �17�*P  �q�C����
��: 

 

( ) ( )
( )L

a b b c

b a b c
c

=
+ +

+ +
⎡

⎣
⎢
⎢

⎤

⎦
⎥
⎥

10log (35) 

 bC� #�� ���&�' �� �Y k3�z
L13 L2 E �%�	��dB 15}��'�	�  .3 G�
��P :1�����5!�� ������� ����`�17�*P : 
 L  =  L1  +  L2  +  Lc

 

(36) 

 �	'�1�� �
��3 �B��*�� ���4� +F�� �p�N g1�� #�� ����� R �(�` �4CP�5��­ �;��` @�
N���. 
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 �����11  

 ���
��� ������������ 

 

3 �$A ���Y y
N��� _�LA _�`?� �� :5��) �!T�� �U��(12� EB�P �3?� ������� 9�� * �17� y
N����a3 b + c E
 [�4����3h1 .3B��P ¬���� ������� 9��  �17�* y
N����b3 c[�4����3  

2
h′. 

 �����12 

��
���� ������� ��!�
�� ������ 

 

��%
�  �'�U� 0��1� R �	'�1�� +,- ���������L3 �N�L 5� y!��� �QYy	;���� :G�*
�� :5�  .}�3� ���&�� B�H Eh/r 0;���� 
 Eg��;���M ��L Eh}�JF1�� �N��� [�4���  �� 9��������  �TxRx �!T�� R bX
' �%5�� 12E3 r ��
� �1J jC� 

 ��B���� ~�1�� Z,�� �&'�4� �3?� gz5�5-e�(2) . ®�̄� �%�
�
2
h′ E)��� [�4���}�JF1�� Z*����� 0;� g��4�� 9��� �� MR (

Z*����� 0;���� �,- �p���' #�� ����u� K��� . b�QC� ����� |,L ]^3(dB) Tc yP �N���� @����� R ,`d' �L E
�%p��4��� «�,Y3 y
N��� . �'�	� �!23(dB) Tc ����
�� �q�C�� �17�*P: 

 

p

c p
q

a
T

2

10

–1

2
log20–12 ⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

⎥
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢
⎢

⎣

⎡

⎟
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜
⎜

⎝

⎛

π

= (37) 

«�,Y3: 

 1

2/1

)(

)(2
h

acb

cba
p ⎥

⎦

⎤
⎢
⎣

⎡

+
++

λ
= (38a) 

 2

2/1

)(

)(2
h

cba

cba
q ⎥

⎦

⎤
⎢
⎣

⎡

+
++

λ
= (38b) 
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2/1
)(

tan ⎥⎦

⎤
⎢⎣

⎡ ++=α
ac

cbab
 (38c) 

h1 �h2
 

������� �	
� 
��
�� ���� �� ������ ��
����. 

��	��� ����� ��
!"#� $���% &�!'��: 

 
c
TLLL –21+= (39) 

� ��( )*
�� ��+
����,��" -)/��!�� ���0 � $��1�� �� 2�3!�	� ��+
� - $4����� $
����3.4. 

5 6
37 ��
!"#� )/�� &�� 8�9�� ;
!��� �,*� ��( <�� =#��� -�> ?@��� A�	 + # B��� C+
���� ��	�����0 
$1*0� ����� 1D7 E�*��7 .� F��0 >��
G�� �� $������ H�3I���"��3� : J
!�� �K�10L ��4M� ��
!"� NL��O ��

 ?����� 1D7 NL P
%Q��A���� @�	 �� -�9L R��!"� .�
� 1S� �,*� ;
!� # <�� ����� -  @�	 �*	��!"�
� A���� >T @�	 �� H����#� - U
� A������*S4 ��
!� �*
"�V� B��1V��?  BT �5�W�� ����� 1D7 ���� NL >4X+

� X
Y���Z
!Y�� 2�[� $1\E�X
Y� �E�Y�0  ? ]� �K�^���!Y�� �"����. 

4.4 ���	
� �
��� ���
��  

E��/�� B_��� �3`�Y� �a �*9�T b+��G� &�� ��
!"#� $���% 
+1��� )�!�+ �3*� ���+
�� &c�'+ - ��\�"d� 
e7T �T �f10�� 

g
�� h% ." �K
�S Ag" >���+ �"���	� ��	��� )/�� �7 �*ei ��( j"T N�Q� ��+
��� J
���� 1Y� k�Yl#� 
�S Ag

 �	T
�� m"�V� 
,`�� 
�*� ���0 - �n &c�'+ ?)/�!�� �3S��*g�������� �3S o� . 
 $���p� q+�!�� @*Dg� �,*�L ;�G'+ ����� 1D7 ���0 )/��� �*9
� NL 1Y��+ m+
^ �0 ]� �*"�e�� ��+
��� )����� �3Y*�

�3*S A��r k�Yl� 
�S Ag" �� �s�Y�� &��Q�
�g�� �� j . Ag" t�,�� ��	��� ��
��#� - J�Q� k�Yl� F���� u%v+�
 2�!��� J�Q� 
�S) 
`"� $
����3.4 �*c���� �� ITU-R P.452 .( t�� k�
ZL �,*� tM�+ <�� =#��� ]� ��+
��� yuK tkd���

 o�� 
g
�� h% �� ��� 
D
�� �T J�Q� &�� �*9�Q� =����� NL �
�Y��� 1*0�)�Q�. 
� 
D
�� @�	 P���� U�� J�Q� H����� =�Y*� �� ���3I ��� - >�+4�
�� ��3�� m"�V� 
,`�� 
�*�+ BT Cz 1Y�

 �3`�Y� {��" $1����� 2�| &��? $�%Q�� N�Q� �Y*!�� �ei }*0 ������� 
D
�� @�	 P���� U�� �
������ �	
�� 
� ���3I�� �� ����� �*��Q� =������	
�� �� E�Sd�"� .�+ B_�� ���" ������� H����#� �� ��~ �7�� 
,`V� m"� 1Y�+�

M�� j*�L ~��
�� yuK 4�+4~� ]� ?���� -
| �� .�'+�� BT Ac��� yuK - J
�� 4�4M� ~��
�
����� NL �	
�� �� BT �a� 
E�+��
9 1!+ # ��5��+
��� yuK NL �
�Y���  .��G�+? # ���� {
�\+? =����� &�� m"�V� 
,`�� =�Y*� H~�� BT 

E�*��T �+�����. 

1.4.4 �������� ��������� ����� 

 @�	 P���� U�� J�Q� H����� =�Y*� �� ���3I ��� - �*9�Q� b+��G��� H����# m"�V� 
,`�� 
�*�+ BT Cz
 �ei }*0 ?
D
��	
�� �� �7 H����� $�%Q�� N�Q� �Y*!��
D
�� @�	 P���� U�� �
������ � . ������ �*S Ac���

E�~��� �3� ��*�c ��� - H����#�� �� 1 NL N >���� }*0 ?Nm"�V� 
,`�� =�Y*� 41� . 

 t1���'� ?��+ �3*��"�*����� �4�
�� "�3`�Y� ��g�: 

hi :  ���Y�� 
D
�� @�	 P���� U�� H�����i-th 

di: ��� �	
�� �� ������ ���Yi-th 

dij:  ���Y�� �� ������i-th ���Y�� NL j-th  
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 �*�� k�4T - N�Q� ��0
�� �e3��"$13�� ������� "m"�V� 
,`3�� . BT ��( <�� �Y*!�� {��" &�� ;
!���� @3�+ �� �K�
� ����	 ]� R�3����
����� NL �	
�� �� m"�V� 
,`�� U�� $1. 

Q� �un t�*��� ��(� ]*s R���� ?����� =�10� - ������� H����#� �*S ]*s j*� B��� >u�� ?��� k�
Z�� ��	��� 
�
B�+4�
�� $10� ��	��� �+��M�� . NL �
�Y��� $��c �+��~ �"_��� �+�+4�� =���� NL �
�Y��� @g� =�
+
�� ��+
��� �3\��

���Q� hp� .����� �*��!� =�Z�1� ��3�� B�7 �5L���0 ~� °5�S4 
e7T �	1YK 
�Q� �G��+ 1�� ?. 

 ���� )�Q� U�� &��Q� >��M�� H����#� =�5 m"�V� 
,`�� ���" �,�c�� ������ {��" �� ���" �7 &�� ;
!��� ��+�
E���`Y�-
| 10T �� k�1��� ?������� ������� ���" �� �,*�L 
%�� ;
���� k�,�"�� m"�V� 
,`��  .&�!'+� �Y*� H����� 

� m"�V� 
,`�(i >  s) i-th ?E���`Y� ���Y�� �� �,*�L s��	��� ?: 

 e  =  [(hi  –  hs) / dsi ]  –  [dsi / 2ae ] (40) 

}*0: 

 ae: ��	��� &�!'+ ?2�!��� J�Q� 
�S Ag": 

   =k × (km) 6 371 

�: 

 k: 2�!��� J�Q� 
�S Ag" ���� 

L �� 1+1D�� ��
�%� B�� )
�'+��9�Q� )/�!�� b�" 
e7T �T ����	 <��" �� B���� ���3I �+T �ei BT Cz B�7 �5 .
 �,Y*� $1��
�� ��
� <�� =�Y*!�� NL �
�Y����250 m =�Y*� �ei <�� ������� {��" �� ���3I �+T ���!� BT Cz ?�ST �T 

10�� )/�!7 ?�
����� �T �	
�� ;d� ?m"�V� 
,`3�� �
S�!��. 

� �i 1S ?�"���	� ��� - )/�� �7 �ZuW B��) ��\�� 
`"�13( . ]� =�"���	#� �� 10�� �7 �	1YK )������
 ��\��8c . BT NL $����� ]�������� s1 �s2��\�� - ? 13
,`� =�"���	#� �� $10�� �7 NL �
�Y��� B�E�*��T ��	���  

�� ?F���� =������ yuK BT� ?�3��� {��" ���*�� ������ ?�
+
��� �*��Q� �!�Q� NL �
�Y� d1 �d2 ��\�� - 8c . B��+ 1S�
 �� o7T )�T NL �
�Y��� �!�Q� �+��~ NL �
�Y��� >��
G�� �����0 °541� BT ?E�
+
��  s1 �s2�� �*� ������ 1Y�   ��

?�3���  d1 

�d2. 
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 �����13 

 �������� ��	�
��
� ��
�a (�� ������ ������b (�������� 

 

 

 ��\�� - 2��� �K �3�e�13+ ? 
,` H�����hE�	��� =�"���	#� �� $10�� ��� E�+4�3� E�Sd�"� E#�M" �3��� ��  hp� NL 
�*��
��� {��Y�� �T $���[� �3��� �� h�
+ >u�� �*����� . �3*S )������h ]� �"���	� �7 NL �
�Y��� h ��\�� - 8c .

 C�� BT ?�
+
��� �*��Q� �!�Q� NL �
�Y��� P
%T $
� ��(�������� NL �
�Y��� ���� ?>4�3� �l &�� �"���	#� =
 F��0 >��
G�� �� ?��1l#� $1+1� �!�T �+��~h�"���	d� �	�	Q� hp� NL �
�Y��� �D*Dg�� �+��M�� 1Y� . 

�+� ��\�� @914���	 ���" �� 
e7T �� B���+ )/�� �	1YK  .���	��� �*����� {��Y�� NL ��\+: 

w : E�kMZ �e( # >u�� )/�!�� �	
� C"�Z &�� ;�
��� �T F
SQ� ������� ���"�� �� )/�! 

x : _��� <�� ������� ���"�	
�� NL F
SQ� )/�!�� kMZ B 

y : Z B_��� <�� ������ ���"�
����� NL F
SQ� )/�!�� kM 

z : E�kMZ �e( # >u�� )/�!�� �
���� C"�Z &�� ;�
��� �T F
SQ� ������ ���")/�!�� ��  

v :  �!�Q� �� ]|����� ��	��� �,*�� 2�g�� ��+ <�� �3��� ���"��S����)/�!�� U�� . 

1�4
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 �����14  

������ ��!�" #$�% ����& 

 

 

 ;
0Q� B���	�w� x� z E�G+TE�~��� H����#� =�Y*�� m"�V� 
,`�� ����� A/��g�  . ���" �� B���+ )/�� NL �
�Y����
 �� ��� B��*	 ?���M!� ����	x� y m"�Z 
,`� ���" NL B��\*	� �3*��� b�"  ]� )������3��� .- �0d+� ���0 

������� =�"���	#������Y�� BT ? y� z ����" �� $10�� �"���	� NL �
�Y��� w �x NL �
�Y��� ?�,*�� <�� �"���	#� L�. 

 �*+u��� - 4
+�1  ��1��� ��+
| Ac�t������*9�Q� b+��G��� t�!�� m"�V� 
,`�� ]� =�"���	#�  . )/�� �7 M*3�+�
 ��	���w �x �y �z .*+u��� - $4����� ��+
��� ������ �3!���� �1=�"���	#� =�3�!� &�� 2�gD��  s1 � s2� h� R. 

E�
`"� ��de� H�3�37 ���� NL �
�Y��� ��
!"#� $���% C�D'� ?�DY�� �uK &�� =1�T m"�V� 
,`�� �ZuW BT NL 
4�10: 

� �=�"���	#� &�� ��
!"#� 
/��% H�3I 

�  =�"���	#� �� ��
��� ���� ��
!"� H�3I)	#� ���$���[� A+������ =�"���(� 
� @*Dg��� $��
�. 

 ?�*���� ��
!"#� $���% ����7 ��(�dB��+ �37 ?
�� k�G��� $���% NL �
�Y��� ?: 

 dBlog20–)(")("'

1

1

1

Ni

N

i

i

N

i

d CzyLxwLLL ∑∑
==

++= (41) 

}*0: 

 L'i:  �"���	#� &�� ��
!"#� $���%i-th - $4����� ��+
��� ��	��� ������ $
���� 2.4 

 L"(w x)1 : �% ����Y�� �� ���� kMZ NL �
�Y��� ��
��� ���� ��
!"� $��w� xN�Q� �"���	#� NL �
�Y��� . 

 L"(y z)i :  ����Y�� �� ���� kMZ NL �
�Y��� ��
��� ���� ��
!"� $���%y� z=�"���	#� ]*s NL �
�Y��� . 
 CN :  >u�� @*Dg��� �������0 - t1���+\�"#� $���%  ��PM!� <�� =�"���	#� &�� ��
!"#� NL 

�*������. 

 �*+u��� >����2 F��� ��+
| &�� L")/��!�� �� ��3�� 
g
�� h% k�MZT �7 NL �
�Y��� . 

O :����� ���	� 
���
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 ?@*Dg��� ���� C�D'+�CN��	��� ?: 

 CN  =  (Pa / Pb)0.5 (42) 

}*0: 

 [ ] [ ]
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
+= ∑∏

==
j

N

j

i

N

i

a sjsssP )()( 2

1

12

1

1 (43) 

 [ ]ii

N

i

Nb ssssP )()()()( 21

1

211 += ∏
=

 (44) 

Q� �\�� R��S NL �+
/�1��T�+4
� =�"���	. 

2.4.4 ������� �!��� �"# $��% ����� 

 �3!��'+ k�
ZL NL ��+
��� yuK 1Y����d� NL $
� ��E�!
� =�
� ��3�� m"�V� 
,`3��  . ���" 4�zL - k�
Z�� �e3�+�
&��Q� �*	1Y�� �3�!�� �3*S ��( m"�V� 
,`3�� �!� kMZ �%�4 v kMV� - ��5 @*9�� 4�� �3�e� 1.4 .�
!+� kMZ ;

 �!�+ >u�� m"�V� 
,`��jgD�E�Sd�"�  ���Y�� �*�4 �� a ���Y�� �*�4 NL b (a < b) . �"�7 �5L�a + 1 = b 1Z�� d� ?
E�
�c �!�� ���� kMZ NL �
�Y��� ��\�"#� $���% B���� ��*	� ���" . )
�+ ?P
%Q� =#��� -� �**�� ��	��� k�Y
�� 

νn (a < n < b) NL �
�Y��� &��Q� �3*��� =�5 ���Y�� ��*�%�� ν . �3*S &�!��ν m"�V� 
,`�� ���" NL �
�Y��� n-th 
��	���: 

 nbanabn dddh λ=ν /2 (45) 

}*0: 

 h  =  hn  +  [dan dnb / 2 re]  –  [(ha dnb  +  hb dan)  / dab] (45a) 

ha, hb, hn:  #������� ��\�� - 4
� �37 �*	T
�� =15 . 

dan, dnb, dab:  ��\�� - 4
� �37 �*��Q� =������15. 

re:  2�!��� J�Q� 
�S Ag" 

λ :  �Z��� 2�| 

 �*���h �d� re�  λ ?����� =�10� ��� - �,�7. 

 ����� 1D7 ���0 $����7 ��
!"#� $���% &�!� ?�������J(ν) E�����4�!3��  �(27) NL �
�Y��� ν <  0,78− �K� ?
E�
�c >����P
%Q� =#��� - . 

�`0d��� 
+1Z� ��4�!�� BT (45) ��4�!�� �� $
��
� ���\� (22) . ��4�!�� �	1YK @*9�� 4
+�(45a) ��\�� - 15 . o�!+�
 ��4�!�� - ��e�� 1��(45a)E�
+
�� E�1*Z � -�9�� H����#� NL �
�Y���  ���Y�� 1YnJ�Q� k�Yl� �� ���Y�� . 
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 �����15  

����� ���� �	�
� 

 

 

 )
�+E#�T ?yd�T 4����� k�
Z�� ?����� ��3�� m"�V� 
,`�� &��j�
����� NL �	
�� ��  .� &�� )��'+ ���"v  �3*��� =�5
Q�&�� �	� �*�*/
�� �����? p?� �	��� �\" �J(νp )  NL������� $���p�. 

�B��� ��1Y� νp <  0,78−?'+  )
� k�
Z�� �uK��*��9L ��
�: 

�  ���Y�� NL �	
�� ��p &�� 2�gD�� νt�  ������J(νt)� 

�  ���Y�� ��p &�� 2�gD�� �
����� NL νr�  ������J(νr). 

� ?u/1Y���!& �*��9�� ��
!"#� $���% ��	���: 

 L  =  J(νp )  +  T [ J(νt )  +  J(νr )  +  C ] NL �
�Y��� νp  >   0,78– (46a) 

 L  =  0                                         NL �
�Y��� νp  ≤  0,78–  (46b) 

}*0: 

C:  m+
���� @*Dg��� 

 C  =  10,0  +  0,04D (47) 

D:   ��s�� ���� 2�|(km) 

�: 
 T  =  1,0  –  exp [ –J(νp ) / 6,0 ] (48) 

�� 
+1Z ��+
| NL ?�*��Q� o� =����� NL �
�Y��� ?1Y��+ yd�T 4����� k�
Z�� BT NL �`0d��+�4� =�(Deygout) <�� 

+1�� &gST - ;��0 �d� &�� 
g��� . k�Y� �� A��� k�
Z�� �uK B�� ?
g
�� h% =���� NL �
�Y��� ��T+�4�=� �� 

 j"T }*0
�g�� �� �,�3*S A��r ��
!"� $���% NL �*�*/
�� ����� >4X� ��1Y� ��+�"�� ����0 t1��	� ��(. 

 {��" k���"� k�
Z ��5�  ����� J�Q� 
�S AgY� ���17 j� v
Y��� ��
�"#� 1S�� - H���"� =#�0 ��+
��� yuK �� ��Y+ 1S
�� �T �*�*/
�� ����� �ZT �� ����¡ m"�Z 
,`�$1��� . ���17 ��
�"#� 1S��� X
Y��� C*��� �*�c 6DY� NL �c�����

 ������a

 ������b

��	�� 
�� �
���

���� ������"�������"���� 

 ������n
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 �ZT �� ?��1Z� BL C"�Z �7 - ��1����� ������� ?�*�*/
�� ����� 4�zL E#�T ��3�� ��  ����� J�Q� 
�S AgY�
 ����� J�Q� 
�S Ag" h	��� .T �*�� ��
�"#� 1S��� F��0 1Y� ;���� yuK �3!��� ¢ J�Q� 
�S AgY� P
%

{��Y�� yuK ]S��� 1+1D�� k�
Z�� ��
�� B�4 ? ����� . J�Q� 
�S ;�g"T 1Y� �S4 �ST ��+
��� yuK B��� 1S ?��5 ]��
h	���� �3*S �� £�Y� �T �,�3*S 1+M� <�� �¤�����. 

 �*c���� - ��
�"#� �5�3Y� ��\Y�� 10 ��+
| t1�����ITU-R P.452-12 .��� C��� �¤���� 
�S ��gY� ��
�"#� 1S
��� J�Q� 
�S ;�g"T �� : NL �
�Y��� $~������ �3*���� ��	���� �3*���%β0 ���!�� t1���+ }*0 ?��	��� �Y	 �� 3 

J�Q� k�Yl# . �3�!�� �ei�β0�*��s�� ��*�Y�� &�� 5�\�� ��\�"#� �,*� �3*,+ <�� ��M�� �� �+�¤�� �
�Y��  .¥u/1!�� 
 >u�� ��
�"#� 1S�� F��� ?��*3���� �37�
��� >4�!�� ]+~���� R��!� &�� E�4�3��� ?��%�1�� 2�3��	#� k�
ZL t1���+

 �� �� ��M�� �� �+�¤� �
�" >Q ~����'+ ¦β0 �%50 .��5 ]�� �
�Y� ��
�"#� 1S�� F��0 P1�� ?%β0 B�� ?��M�� �� 
 �*c���� - $4����� ��+
���ITU-R P.452 �� �,!S�� 41� <�� ?��1Z� BL ��1����� ������� ?�*�*/
�� ����� t1���� 

��	���� ����� �ZT . ��
�"#� 1S�� - �
7 �*�� NL m"�V� 
,`�� �*c��� - A*�| �*�� >4X+ BT 2�3�0� CY��" ��u��
 �
�" 1Y�%β0;���� yuK - �� �*�� C
�� ��5� ��M�� �� . 

5 �������� 	
��� �
���� ���� 

�!*�� MZ��0 ��� u��+ )/�!�� BT �*����� U
��� J
��� . o� �T )/�� 2�0 ��\�"#� &�� U
��� yuK )
�� BT ��(�
�D��. 

1.5 ���& '�� ��( 	)��% 

 �%�1��� �
7 ��( j� J
!�+ >u�� 2�
��	� ]S��)Ede� $��c �*9�T ��§ ( ��	��� MZ�0 ���Y�c��� 4�1§J
!  J
�!+
��\�"#� y�^� .�� �¨ - 2�[� F��0 ?����� yuK - ��(� MZ� 2d% �� ;��O u%Q� �d�7����� 1D��
��#� -  ?
�� &��T >T MZ�
"�Z��y .� $k�Y
�� =d%�1��� >4X�� =���,	©� $k�Y
�� �a�de��� NL �������  =�
��� �!+
	 - 2�[� $1�

� o =�����24�!� �Z��� 2�| .+� t1�� ª4Q� ��
!"#� $���% �*�� =�
+1�� ����� h�
�� �5�3Y����	���� C�0 
��]S� .+� �e3� ]s - �5�3Y�� �uKH����  =���,	�� $���% 
+1��� �+4
���#���
!"Q�  &�� 2�gD�� �	T ]s� ?ª4

 
+1�� £� $���% h	������
!"# .1S� �uK o�%�  �5�3Y��¨ - =������ �� ;�
 �+
`" ��	��� ��*S1�����
!"# 
$10��� (UTD)�S1�� �*��� =�	�*S� . 

 ������1 : �*	1Y�� �3�!�� F��0ν ����� 1D7 �d� ;��0 NL �
�Y��� )� $��u���(Q� C"�V�� 
�+Q� C"�V� (
 �� =#4�!�� �� >T 2�3!�	��(22) NL (25). 

 ������2 :�p� ���� F��0$�� 10
 J(ν)/20

 = j(ν)  ��4�!�� NL 4�Y�	#�� ���0 ��� h
�
+ >u��(27). 

 ������3 : ��
!"#� $���% ª4T F��0Jmin
 

E�Sd�"��� : 

           dB⎥
⎦

⎤
⎢
⎣

⎡

ν
+

ν
+

ν
=ν

)(

1

)(

1

)(

1
log20–)(

321 jjj
Jmin (49) 

?P
%T ��+
�� ?�T 

 ������4 : ��	���� ��
!"#� $���% F��0JavE�Sd�"� �� : 

 dB
)(

1

)(

1

)(

1
log10–)(

2
3

2
2

2
1 ⎥

⎥
⎦

⎤

⎢
⎢
⎣

⎡

ν
+

ν
+

ν
=νν

jjj
J
a

 (50) 
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2.5 	)��% �* ��"�+ �* ������� ��"�+ �����, -��
����.#��  

 ��+
��� 2�3!�	� ��(���c��� ��*���� �D�� �� �^�Y�� ��
!"#� $���� X
Y��� y�"4T "������� £�i "E�MZ�0E�!*��  . ��(�
 MZ���� �T ��*����� =�D���� �� 1+1!�� �*���� ��+
��� yuK 2�3!�	�
���!*� NL �
�Y��� ��+1� ��+
| ������ 1!� �K� ?

 4�1§ J
� >5 MZ�0. $
���� - ��+
��� yuK �\S�" 1S� 1.5. 

1.2.5 ���%� ������� �"�+ �����, -��
��� 

 ��\�� �
+16 ��*���� �D�� �*e3�� ��3!���� �	1Y�� "������� £�i "E�MZ�0E�!*�� . 

 �����16  

� ������� �	�
 ���
����� 

 

 

=�D���� ;��0 ]S��� &�!'�? x1 ?x2 ?y1 �y2  �K1Y� 
( <�� ���Y�� 1Y� �1g�� ]�+ }*0 ����+4 =�*��10L t�`" �%�4
 �� �*����� hp� �	
��TNL  �
����� R ���� >~��+ ��\�"� ]� ?MZ��� o� Z .�T� R  ������� 1Y�d1  � d2 &��

 k��� ������j���T� MZ���. 

 ?2�[� $1� &�!'��ea��	��� �
7
� ��*c - 
�� k�G��� NL �
�Y��� ��*�� �*�% =�10� - �
����� 1Y� ?: 

 ea(x1,x2,y1,y2) = 0.5(Cx Cy – Sx Sy) + j 0.5 (Cx Sy + Sx Cy) (51) 

}*0: 

 Cx = C(νx2) – C(νx1) (52a) 

 Cy = C(νy2) – C(νy1) (52b) 

 Sx = S(νx2) – S(νx1) (52c) 

 Sy = S(νy2) – S(νy1) (52d) 

 

��� ���� �	�
�� 
 ���� ����
� ������ �����
����� ��� ���

)����� ���� !�"��� #���� $%&'(
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� &�!� �*Sv ��4�!�� ��	��� ]��Q� (22)�§ �� <��  x1 ?x2 ?y1� y2  NL �
�Y���h?� C(ν)� S(ν)  ���4�!�� - B�4
+ �37
(7a)� (7b)?E�Sd�"� �,3**�� ��(� �� ���!� �� �Y+
�  ���4�!�� 2�3!�	�� C7
(8a)� (8b). 

 ������� ��
!"#� $���% &�!��La ��	��� : 

 La = – 20 log (ea)      dB (53) 

2.2.5 �.#�� 	)��% �* ��"�+ �����, -��
��� 

 ��( U��" ]*	�� &�� $1*0� ��*���� �D��� �c�p� ��+
����� �DY�����: 

"T �«���0 - j� �*�p� =�10���  ��4�!3�� 
�� k�G��� NL �
�Y��� ��*��(51)��	��� 
�� k�G��� 2�I &�!'+ ? 1,0 + j 0,0? 
 b*��� C7
�� 2�[� &�!'+�es 1*0� �*���� MZ�0 �� ���Y�� )��M!��J�Q� ��  (��	���: 

  es = 1,0 – ea
 

(54) 

 C�� }*0ea ��4�!�� 2�3!�	�� (51)�� b�" �� �D�� NL �
�Y��� MZ��� NL �
�Y��� 2��� �K �3�e� ]S���� ��. 

�  ���9�� ���M!�� MZ���� �T ��*����� =�D���� �� 1+1!�� �� �"��� =�
*7
� �� ���Y�� b*��� 2�[� F��0 ��(
 ��4�!�� �/��"(51) �T (54). 

� d� =�
*7
� ��	��� �*/��\!�� 2���Q� =�5 MZ���� �T =�D���� C+
�� ��( MZ��0 �T =�D�� �� B���� �3/
��*����. 

� ��*����� BT �« C(ν)� S(ν)  1Y� k����#� NL Bd*i0,5 + j 0,5 F�
�S� ]� vd�� �� �K�Y� ��4�!�� )*
�� ��( ?
(50)
e7T �T 10�� y�^� - 4�1�� �a P1�� =�5 =d*����� &�� . 

6  �� ���� ��	 
��
���� ����������� 

��( >5 ��	L �� �^�Y�� ��
!"#� $���� X
Y��� y�"4T ���c��� ��+
��� 2�3!�	� �L �*��g+$4�1§ .� =��*
���� �� �� 1¬
 �	��4 ��+
��� yuK ]� C	�Y�� <�� &�� �T ?�!� 6
� �+��~ 2�0 ��
!"#� �3Sr ��1Y� �T ?A���� £� b+��G���

� �*9�Q� =�5 $��
*�	L ���� .K C������� ��
!� ��+
��� yu >T 4�Z� t1� J
���� ?)*!�� ��	©� �*0�3���� �*��g+
 �uK o� 2�	�L)/�!��. 

��
!"d� �3`�Y�� �+
`Y�� NL ��+
��� yuK 1Y���� .� ?
g
�� h%� �`�� <��Y� �� ­�7 - ��
!"#� ��
��#� - u%X+� 8���
 ��+
|)|�Y�� �� b���� 2���"d�. 

��\�� @9�+� 17 � �	1Y�� �	
�� j� ��\�� �*�	L )/�!L �*��g+$4�1§. 
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 �����17  

 ���
����
� ����� ������������� ����
!� �"��
��  

 

 �,*�!� <�� ��*g�� ��
!"d� �3`�Y�� �+
`Y��(UTD) �g�S#� ]� ?2�[� ���" 1Y� �/��
,��� 2�[� NL �
�Y��� 2�I &�� �
�K ?�+1!� >5: 

 )jexp(
)(

)jexp(
2

212

1

1

1
0 ks

sss

s
D

s

ks
eeUTD −⋅

+
⋅−=

⊥
⏐⏐

 (55) 

}*0 

eUTD: 2�[� ���" 1Y� �/��
,��� 2�[� 

e0 : �1g3�� m�Y�� H���#� 

s1: ��
!"#� ���0� �1g�� ���" �� ������ 

s2: 2�[� ���"� ��
!"#� ���0 �� ������ 

k :  =�Z��� 41�2π/λ 

⊥
⏐⏐D: E�!
� ��
!"#� ���!� F����	# ) �T ~��� ]� 1��!������P{�����  (����� &�� {����� 2�I. 

s1 ?s2� λ����� =�10� - . 

&�!'+����!� �� ��	L NL �
�Y��� ��
!"#�  ��	��� �*,�Y�� �*��g+: 

 

( )

⎪
⎪
⎪
⎪
⎪

⎭

⎪
⎪
⎪
⎪
⎪

⎬

⎫

⎪
⎪
⎪
⎪
⎪

⎩

⎪
⎪
⎪
⎪
⎪

⎨

⎧

Φ+Φ⋅⎟
⎠

⎞
⎜
⎝

⎛ Φ+Φ+π⋅+

Φ+Φ⋅⎟
⎠

⎞
⎜
⎝

⎛ Φ+Φ−π⋅+

Φ−Φ⋅⎟
⎠

⎞
⎜
⎝

⎛ Φ−Φ−π+

Φ−Φ⋅⎟
⎠

⎞
⎜
⎝

⎛ Φ−Φ+π

π
π−−=

+

−

−

+

⊥
⏐⏐

⊥
⏐⏐

⊥
⏐⏐

))((
2

)(
cot

))((
2

)(
cot

))((
2

)(
cot

))((
2

)(
cot

22

/4jexp

12
12

12
12

12
12

12
12

0

kLaF
n

R

kLaF
n

R

kLaF
n

kLaF
n

kn
D

n

 (56) 

����� 

���	�0 ���	�n


��� �
��
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}*0: 

Φ1:  {����� �,Z �� ��*�� ?{����� �+��~) �,V�0( 

Φ2:  {����� �,Z �� ��*�� ?��
!"#� �+��~) �,V�0( 

n : A��G37 ��	©� �*Z��p� �+��M�� π  B�+4��) �*�*��� �+��M�� =nπ (rad)(( 

j = 1− 

 }*0�F(x)  �K�Y+
� �*�����. 

 ∫
∞

⋅⋅=
x

ttxxxF d)jexp(–)jexp(j2)( 2
 (57) 

 ∫∫
π=

∞ x

x

tttt

0

22 d)jexp(––)j–1(
8

d)jexp(– (58) 

��(��3S
�� ������� ��	��� �*������� F��0 . 

 ��(�E�G+T����� 1*��� C+
����� �"�!�	#� : 

 )(
2

π
d)jexp( 2

xAtt

x

=−∫
∞

 (59) 

}*0: 

 

⎪
⎪
⎪

⎭

⎪⎪
⎪

⎬

⎫

⎪
⎪
⎪

⎩

⎪⎪
⎪

⎨

⎧

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛+−−

<
⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛+−−−

=

∑

∑

=

=

11

0

11

0

otherwise
4

)j(
4

)jexp(

4if
4

)j(
4

)jexp(
2

j1

)(

n

n

nn

n

n

nn

x
dc

x
x

x
x

ba
x

x

xA (60) 

 =d��!�� &�!��a ?b ?c? d  kMV� -7.2. 

 

12

12

ss

ss
L

+
⋅= (61) 

 ⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛ β−π=β
±

±

2

2
cos2)( 2 Nn

a (62) 

}*0: 

 12β Φ±Φ= (63) 

 ��4�!�� -(41) ?±
N�*����� ��4�!�� NL �G�Q� jZ��� &�� C*���� <�� �D*Dg�� 4�1�Q� �K : 

 

π2

πβ

n
N

±=±
 (64) 
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⊥
⏐⏐

⊥
⏐⏐

n
RR ,

0
d��!� �� F����	#�� >1��!��� F����	#� NL �
�Y��� R��!"#� ~��>��	��� B�*�!+ ?: 

 

2

2

)cos()(sin

)cos()(sin

Φ−η+Φ

Φ−η−Φ
=⊥

R (65) 

 

2

2

)cos()(sin

)cos()(sin
| | 

Φ−+Φ⋅

Φ−−Φ⋅
=

ηη
ηη

R (66) 

}*0: 

1Φ=Φ �
�Y��� NL R0 � )π( 2Φ−=Φ n NL �
�Y��� Rn 

f
r

/1018j 9σ××−ε=η 

εr : ����e�� �*
�Y�� 2M!�� �*c�%��	�� $4��  

σ: L�	�� $4�� �*��g+ �(S/m) 

f :  44
���(Hz) 

����¡ �*/��
,7 =�*c�% �5 �"��+ BT ?$��
G�� 1Y� ?��	�� m"�V ��( j"T NL $����� �1^�. 

� ?R��!"#�� �`�� <��Y� 4�10 1Y�� @
g ��4�!�� - t�3��� �¨ 2��4 P10L(56)$4
�� . 

 BT �a
⊥

⏐⏐
D ��5 ]� �`� $4�1§�� ��(� ���,�� �,3** . NL �
�Y��� $4
��� t�3��� �¨ ���4 &�� >��� >u�� 1�� &�!+�

ε�� ����� �DY�� &�� ?��g: 

 ;
!� }*0ε��	��� : 

 [ ] )4/jexp()4/jexp(2)ε(signπ2))β((
2

βπ
cot π⋅π⋅ε−⋅⋅≅⋅⎟

⎠

⎞
⎜
⎝

⎛ ± ±
kLkLnkLaF

n
 (67) 

 

+π−β+π=ε nN2 NL �
�Y��� 12 Φ+Φ=β (68) 

 

−π+β−π=ε nN2 NL �
�Y��� 12 Φ−Φ=β (69) 

�3*S B���	����!� b�" �3!��+ BT {
\� ?R��!"#�� �`�� <��Y� 4�10 1Y� ��c���� ���Y�� ��
!"#� ���!�  R��!"#� 
���!Y�� �!�Q� F��0 1Y�. 

 2�[� &�!+�eLD NL �
�Y��� 
g
�� h% H�!� 1/�~ ?��
!"#� H�!� �� ���Y�� π)(
12

<Φ−Φ��	��� : 

 

⎪⎩

⎪
⎨

⎧

π+Φ≥Φ

π+Φ<Φ−+=
12

12

for

for
)jexp(

UTD

UTD
LD

e

s

ks
e

e (70) 

}*0: 

s: 2�[� {��"� �1g�� �� �*����� hp� �����. 

 ����� - j"T 
7u��� 
+1Z�π)( 12 =Φ−Φ ��4�!�� - t�3��� �`� ��e�� 1�� @
g+ ?(56)E�4
��  ?�!�+� C+
���� 2�3!�	� 
 ��4�!�� j*�!� >u��(67). 

1� &�!�� 2�[� ���" 1Y� 2�[� $(dB) ��\�� �*�	L )/�� F�*a - 2�[� ���" 1Y� 1Z�+ 1S >u�� 2�[� NL �
�Y��� ) >T
dB
�� k�G��� NL �
�Y���  ( �*
e��e0 ��4�!�� $10� 1Y� (55)F��O� : 
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 ⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛

−
⋅=

)jexp(
log20

ks

es
E

UTD
UTD (71) 

}*0: 

s: [� {��"� �1g�� �� �*����� hp� �����2�. 

 NL �
�Y��� j"T NL �`0d�� ]�n = 2 �,*�!+ <�� �/��Y�� b�" $��
!�� yuK ��!'� BT Cz ?�3*��� �(1� R��!"� =d��!�� 
 ����� 1D7 ���0 &�� ��
!"#� $���% 6DY�) ��\�� 
`"�9.( 

 ��*c �+�+4�
�� =#�g�#� C��� P1� 1Z�+� �+
`"���
!"#$10���  (UTD)	��� =1�T  ���"
� ��MathCAD. 

7 �������� 	�
���� �
�� 

 ��\�� >���18 - �,D*9�� 4�� <�� ��
!"#� $���% �**��� t�� �*�4 &�� ��
���� 3� 4. 
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 �����18 

�������� 	�
���� �
�� 

 ����� ���	

���
 ����� 

 ������ ��� �����
������ ������
� 

���! "�#$ 
%&�'� �('� �)

 *�� +, 
�-
$�./
� 

0� 1����2�
 %3��)���5( 

7�,�8 9��:�!�
 7;,)���5( 

 *�� 1����2�
<��� %&�'�
��
=

 �;> �.�
������ %&��
�$ �?�= %&��$ 

�=�- %&��
 ��?=)���5(

 �@A �3�? %&��
 B��?= C:�
�)���5(

�=�- %&��
 8���-)���5(

 �3�? 1D'E
C:�
� �@A

�?�= %&��$ 

F�G&��®  F2=<�- F�G&��
)���5( 

 C:�
� �@A �3�?
B8���-) ���5( 

H�� 

��H 

H�� H��

H�� H��

 B�GI
�4

 B�GI
�6.2

 B�GI
�6.2

 B�GI
�6.2 B�GI
�3.2

 B�GI
�1.3

B�GI
�2.3

 B�GI
�2.4

 B�GI
�1.4 F���GI
�3.4=# 1.4.4

B�GI
�1.4

B�GI
�3.4

 B�GI
�2.4.4

2 

2 

2 2

2 2
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 �������1 

� �	
�
1 

 �
�
�� �
���
������� 

 

k�
Z�� 2�3!�	� ��( =�3�!� F��� ����� =�"���	Q� Bd�\�� �,D9�+ <�� 8c� 14  NL �
�Y��� �7)/�� )/��� �� 
�*9�Q� b+��G��� .B�+4�
�� $10� �+��M�� ]*s t1����� ?������ =�10��� �3!��'�� . ��3!���� =�
+
���� �7 @g��

 ���0 �� 1Z�� <�� �+�+4�
�� =����� NL �
�Y���°5Q� �� )�. 

1 ����� ����� ������� ����� 

B�+��
9 �3¯T #L ?�*"���	� =�3�!37 $
��
� Bd3!��'+ # �3��� ]S��� �"���	#� &�� ��
!"#� �+��~ BT ]�. 

��	��� )/�!�� &�� ��
!"#� �+��~ &�!��: 

 θ  =  αw  +  αz  +  αe 

(72) 

 &�!� }*0αw �αz >��M�� H����#� ����Y�� x� y U��  ���� )�Q�E���`Y� ����Y�� �� �3,*�L w� z ������ &�� 
��	���: 

 αw  =  (hx  –  hw) / dwx  –  dwx / 2ae 

(73) 

 αz  =  (hy  –  hz) / dyz  –  dyz / 2ae 

(74) 

&�!��αe �� <�� �+��M�� ? ���
S ] ����Y�� �� &3`!�� $
/�1�� �����w� z��	��� : 

 αe  =  dwz / ae 

(75) 

 C��� ����� ���Y�� �� �3���wE���� Ede� )/�!�� B�7 �5L �� 
e7T =�Y*!� �T $1*0� m"�Z 
,`� �Y*!� : 

$1*0� ���" )/�� NL �
�Y���: 

 dwv  =  dwx 

(76) 

E�1Z $��c �*S 19 k�3�0#� >��
G�� �� ?{��Y�� 41!�� )/�� NL �
�Y�����
!"#� �� . 

 dwv  =  [(αz  +  αe / 2) dwz  +  hz  –  hw ] / θ NL �
�Y��� θ · ae  ≥  dxy 

(77a)
 

 dwv  =  (dx  +  dy) / 2 NL �
�Y��� θ · ae  <  dxy 

(77b) 

 ���Y�� ����� &�!��z��	��� �3��� ���" �� : 

 dvz  =  dwz  –  dwv 

(78) 

E���� 
D
�� @�	 P���� U�� �3��� ���" H����� C�D'+�� )/�!�� B�7 �5L �� Ede =�Y*!� �T $1*0� m"�Z 
,`� �Y*!� 

e7T. 

$1*0� ���" )/�� NL �
�Y���: 

 hv  =  hx 

(79) 

{��Y�� 41!�� )/�� NL �
�Y���: 

 hv  =  dwv αw  +  hw + d 2,wv / 2ae 

(80) 
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2  ��������������� 

 =�3�!� F��0 B�� ��(=�"���	Q� ��\�� - �,D*9�� 4
+ <�� 8c <�� �*9�Q� b+��G��� )/��� �� 10�� ��� 
������� �*�� �K41�. 

d1� d2���� � )/��!�� NL �
�Y��� �
Z��� �3��� �� �� �)A+����� �T (?������ &�� )/�!�� �
���� m"�Z &��� �	
�� &�� 

�: 

 h  =  hv  +  dwv dvz / 2ae  –  (hw dvz  +  hz dwv) / dwz 

(81) 

 F���� 
�S Ag"�"���	Q�m"�V� 
,`�� =�Y*� �� B��*��9L B��Y*� �3!��'� ?: 

p:  $���[� ���Y�� �x?�	
�� C"�Z &��  

�: 

 q:  $���[� ���Y�� �y�
����� C"�Z &�� . 

 m"�V� 
,`�� �/#4 &�!� �u�K�p� q��	��� : 

 p  =  x  –  1 (82) 

�: 

 q  =  y  +  1 (83) 

����" �"�7 �5L ��	��� $��!� p �T qE���
�� �ei  �3*S B��� BT Cz ?h ��� 1Y� �*9�Q� b+��G��� H����� ������� 

D
�� @�	 P���� U�� �/���� H����� b*�� ?���Y��. 

 
�S Ag" C�D'+��"���	Q�  m"�V� 
,`�� kMZ �� ��1l#� - U����� j�c��p-x� y-q u%Q� ]� ? - k�Yl� ��
��#�
�E������ ?J�Q �� ������ &�� p� q. 

��+ �3*� F���� �uK �,
���+ <�� m"�V� 
,`�� =�Y*� �� =������ �e3���: 

 dpx  =  dx  –  dp 

(84) 

 dyq  =  dq  –  dy 

(85) 

 dpq  =  dq  –  dp 

(86) 

 �/MZ �� ��1l#� U��� &�!+�p-x� y-q B�+4�
��� )�+��M�� R�*S $10�:( 

 t  =  (hx  –  hp) / dpx  +  (hy  –  hq) / dyq  –  dpq / ae 

(87) 

 }*0ae 2�!��� J�Q� 
�S Ag". 

 
�S Ag" &�!'+��"���	Q���	��� B�� : 

 [ ] [ ]3)4(exp–1/ ν= tdR pq (88) 

 }*0v ��4�!�� - 4�!�T d� ����� 1D7 ���0 �3�!� (28). 

 ��4�!�� - ?��e�� ���!�� �e(�(88)	 ���4 ? )/��� - ]��� ��10 >4���� �"���	#� 
�S Ag" &�� )
�� �*
+
^ ����
�*\���� 
g
�� h%. 
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 �������2 

� �	
�
1 

������ ���� ������ ��
�! 

1 ����!� 

��
!"� ��« )�!�+ 
g
�� hp ��
� kMZ NL �
�Y��� ��
��� ���� ��
!"� $���% F��� ��+
| �*+u��� �uK J
!+ . 1S�
�im"�Z 
,`� {��Y� �,Y� $10�� �7 £�r ������� =�"���	T ��	��� ���� �ZuW  w �x �z ��5 @*9�� 4
+ �3�e� 

 ���\�� -13� 14 .��	��� ��e3�� {��Y�� �� ��s�� ��3�� ��
� kMZ ��� ��
��� ���� ��
!"� F��0 Cz� w �x 
�T y �z.�� ��3�� 
g
�� h% k�MZT yuK �ei� )/��� ;�
�� �� �T ?)/��!�� . 

 ��+
��� yuK 2�3!�	� ��(�E�G+T &�� ��+
��� yuK )
�'� ����� yuK -� ?��
� ��� ��
!"� ]� 
g
�� h% NL �
�Y��� 
j�37v� ����. 

2 ������� 

<�� m"�V� 
,`�� =�Y*� �� m"�V� 
,`3�� 
g
�� h% kMZ NL �
�Y��� ?N�Q� �3,�� �e3�� ��	��� �,*�L M�
+ u� v - ?
 4�!
�	� ���� �*Y*
�� m"�V� 
,`�� �Y*� &�� ;
!���u� v NL �
�Y��� N�Q� �Y+
� ���Y� �� o7Q� kMV� B��*!+ B�u��� 

 H�!�°
D�+ �� u NL v. 

E�kMZ �ei ���" ��*�%� >4�����E�+
K�Z �	�7 �,�ZuW ��
	 <�� �*9�Q� b+��G��� )/��� ��  m"�V� 
,`�� 
gDY+ ?�"��
 ��u� v �*��9�� ~��
�� �� �Y�� �� kMZ - p� q����� �DY�� &�� B�41D'+ ?: 

� p = u + 1. 

�  �� �7 B�7 �5Lp < v� hp > hp+1 1+M" ?1NL  p �
�"�. 

� q = v – 1. 
�  �� �7 B�7 �5Lq > u� hq > hq–1" ?  £�Y1 �� q �
�"�. 

 �"�7 �5L�p = q� ? �3*��� 1Y� ������ ��
��� ���� )/�� $���% 410 .���7 P
%Q� =#��� - F���� >
z�. 

�zL B�� >��
G�� ���>��*!�� ±����� �*"1�� �3*��� 4 ?CF ��	��� $��!�� ?hz / F1������ =�10���� ?: 

 hz : m"�V� 
,`�� ���" U�� H�!\�� H����� 

 F1: 
� ���Y� 
�S Ag" N�Q� �Y+. 

��+ �� �l &�� ª4Q� >��*!�� ±��p� ����7 ��(�: 

 [ ]iiz

q

F Fh
pi

C )(/)(
min

1=
= (89) 

}*0: 

 (hz)i  =  (hr)i  –  (ht)i 

(90) 

 uvivuii dddF /)( 1 ⋅⋅λ= (91) 
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 &�!��(hr) 1Y� 
D
�� @�	 P���� �� h�
+ �*���� h% U�� H�!\�� H����� ?u� v m"�V� 
,`�� ���" 1Y� i-th 
��	���: 

 (hr)i  =  (hu · div  +  hv · dui) / duv 

(92) 

 &�!��(ht)i 1Y� 
D
�� @�	 P���� �� h�
+ �*���� h% U�� �*9�Q� b+��G��� H����� ?u� v 
,`�� ���" 1Y� 
 m"�V�i-th��	��� : 

 (ht)i  =  hi  +  dui · div / 2ae 

(93) 

 

__________ 
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